Signature and Name of Invigilator
1. (Signature) .....ccccceevvvvvvvvvieeeeeeeeeeeeeeenen.

MAY - 36316

Time Allowed : 22 Hours]

Test Booklet Code & No.
YYIYAERT IS T F.
Paper-II1I

GEOGRAPHY

Seat No.

(In figures as in Admit Card)

SEALINO. e

OMR Sheet No.

(In words)

(To be filled by the Candidate)
[Maximum Marks : 150

Number of Pages in this Booklet : 40

Number of Questions in this Booklet : 75

10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.
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paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

@ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iit) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),
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the correct response against each item.
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any mark on any part of the OMR Sheet, except for the space
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means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Geography
Paper 111

e
gyAurent 111

[Maximum Marks : 150

Note : This Paper contains Seventy five (75) multiple choice questions. Each question

carrying Two (2) marks. Attempt All questions.
GOl : A1 GAUAh THY Ue@wl (75) Sgaar ued ol oTRd. Yok Ueen g (2)

U Sed. @d U G

Assertion (A) : Market factor
generally determines the character

of farming :

Reason (R) : Places away from the
market generally grow crops which
can afford the cost of transport to
the market.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) 1is not the
explanation of (A)

correct

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

faeam (A) : STNTRUS S2eh GaETERuaa
e afyrse fauifa .

HRUT (R) : SSRUSUHA X STHUR
foRTO FEHTERUEET STSIRUSd SIS

IR Agae @9 [RHEaEi g

g foeh =,
IR AU TR TG ?

(A) T8I (A) d (R) 319 3197 (R) B
(A) 9 49 TR B

(B) Tl (A) & (R) 3% 3Md W
(R) 8 (A) 9 3Tk TSI
Rl

(C) (A) 3T/ 3¢ g (R) § I 3T

(D) (A) =% 38 W (R) & Tgh M

[P.T.O.



2. Match the List I and List II and
select the correct answer from the

codes given below :

List I List II

() Brazil Plateau (1) Tin mining and rubber
production
(b) Malaysia (2) Petroleum production
(€) Venezuela (3) Engineering industrial
production
(d) Southern Japan (4) Coffee and iron ore
production
Codes :

(@) (®) () (d)
A (2 (4) (1) 3)
B) (@) (1) (4) 3)
< @ (1) (2) 3)

D @ 2 3) (1)

MAY - 36316/II11—D

2. R I 9 T II A= Siedl Seeddml

arelt feaied foasheameA A gy
faer .
e 1 e 1
(@) STETer™ W3R (1) wAA 9
RCLESIS| 4|
(b) FATTA (2) WRIfaam ScareA
() RIS 3) iRt
SAEfTR  3ceH
(@) Tf&or SUM (4) hIH! 9 AR i
JcAigH
Hehdiah :

@ ) (c) d)

@ @ @ (1) 3)

B @ @ (4) 3)

© @ (1) 2) (3)

D) @ (2) 3) (1)




Which of the following statement/s

is/are correct ?

(a) Heavy flooding affects both

land and water transportation.

(b) Presence of deserts and forests
do not affect the transportation

system.
(A) Only (a)

(B) Only (b)

(C) Both (a) and ()
(D) Neither (a) nor (b)

Which of the following statement/s

is/are correct ?

(@) Alfred Weber advocated his
industrial location theory in the
year 1939.

(b) He tried to establish labour costs
and agglomeration factors are
important than transport cost in

industrial location.
(A) Only (a)
(B) Only (b)
(C) Both (a) and (b)
(D) Neither (a) nor (b)

MAY - 36316/II11—D

TRt hio fouM oTeeh oTe 2

(@) FRIIHeS YHI o SA ATgdehie
qRomy B

(b) dMeede d AT SIS AR

IR g B L
(A) &9 (a)
(B) e (b)
(C) = (@) 9 (B)
(D) (@) 3 (b) SrEIE &

TTeAeieh! v faaM steger oe ?

(@) IFhs s I 1939 HEA 3T
TeqTfeh IehLoT=AT fagTare THY Sal.

(b) JEIM=AT TR0 ATRqH

e TR TE 9 GiueiHeaE
T el 3T ¥ TEAITd shioar=
YA <hedl.

(A) HIB (a)

(B) %aa (b)

(C) Tl (a) & (b)

(D) (a) & (b) TRIE T

[P.T.O.



Von Thiinen’s model of agricultural
land-use assumes a hypothetical
state that is characterised by .........

plane.

(A) Isostatic

(B) Isographic

(C) Isomorphic

(D) Isotropic

The fundamental concept on which
the Isard’s industrial location theory

is based :

(A) Principle of interdependence

(B) Spatial equilibrium through

substitution

(C) Least transport cost

(D) Principle and hierarchy

5.

MAY - 36316/II11—D

A AT FHEl Y-S YT

e TR e e, —
TorafeTse gRfe.

(A) HHEIR

(B) ®HISS

(C) "H&Ey

(D) wHfgH

e SiEifien Tenfeniencomen fagia
FHIAT AYd HhodTa SR

A ?

(A) A T <

(B) wfqaisrerarean STemrer  STf9esiy

e

(C) foraM g @«

(D) aXd I SuEEa




Nazis vociferously advocated the
concept of ............. during 1920s to
justify their territorial demands to
contain population growth and by
considering individual’s subordi-

nation to the state :

(A) Racial purity and dictatorship
(B) Space for human footprints
(C) Lebensraum or living space
(D) Economic and social space

Which of the following countries are
divided by anthropo-geographic

boundaries ?
(1) India and Pakistan

(2) Israel and neighbouring

countries
(3) North and South Korea
(4) North and South Vietnam
Select the correct option :
Codes :
(A) (1) only
(B) (1) and (2) only
(C) (3) and (4) only
(D) (2) and (4) only

MAY - 36316/I11—D
AR TG |G SIS W ¥

TS A HgEE 9 TSy
faad RS fa=ma 99 1920 =0
TR A=A GehoUTdl ISR

GERR whedl.

(A) SR Yasd o THAE!

(B) HAHel Ugfagr e o

(C) ToeEd fohan areea™

(D) MY & drIfSieh €
WIATIRT IO ST HS - SFrifeish ST
favmmel sfed ?

(1) 9Rd o TifeR&i

(2) SEEA 9 ISRIA ¥
(3) ST a TrEU i
(4) IW 9 <fam fguam
I fomeq faer :
Hehdich :

(A) ® (1)

(B) el (1) Imfor (2)
(C) el (3) M1 (4)
(D) wH (2) 30T (4)

[P.T.O.



10.

The definition of social geography as
“The analysis of social patterns and

processes arising from the

distribution of and access to scarce

resources” was proposed by ..........

(A) A. Buttimer

(B) J. Eyles

(C) E. Jones

(D) R.E. Patil

The Buddhist population is most
numerous in which of the following

states of India ?

(A) Kerala

(B) Odisha

(C) Arunachal Pradesh

(D) Chhattisgarh

10.

MAY - 36316/I11—D
" gftfes TrEEURITS foraeer 9 ot ST

Heft arqes frmior grom=an wrfs

sMefqay a gfwara favesor’’ oreft

Tt TR
(A) T IR
(B) SI. 3™
(C) 3. WY

(D) IAR3. T

g RS TRAT SeiieTush! Shivre

TSId Fald S 3T 2

(A) Fs

(B) efifesm

(C) TBITTAYLIT

(D) TS




11.

12.

13.

Of the four language families in
India, the most diverse is the .............
as their speakers communicate

around 80 different languages.
(A) Austro-Asiatic

(B) Dravidian

(C) Indo-Aryan

(D) Tibeto-Burman

Which of the following tribal group
is not indigeneous to Andaman and

Nicobar islands ?
(A) Onges

(B) Jarawas

(C) Kadars

(D) Shompens

Which of the following is not a

process of cultural change ?
(A) Diffusion

(B) Acculturation

(C) Segregation

(D) Innovation

12.

13.

MAY - 36316/II11—D

Ty fi= 3T HROT A1t ek 80 fafay
Ao HATE HIET.

(A) 3TEI-3Ti¥reeh

(B) sfafezm

(C) EESI-3MmiHA

(D) faad-sA

TTeAedeh! IVl ST THE Feaal
A oA1for fAehiam grawygE=n
AT ?

(A) &

(B) SO

(C) =p1EX

(D) SMETH

TICATUeh! IV TG Setrel Ufshan
T ?

(A) FER

(B) sreereietd

(C) 3AcrTan

(D) Arfer=an

[P.T.O.



14.

15.

The principle of ............ implies that

each region constitutes a sub-system

of regional system whole.

(A) Vertical unity of phenomena

(B) Horizontal spatial unity
©)

Ecological equilibrium

(D)

Equilibrium between social
desirability and economic
viability

Core-Periphery Model pertaining

to development was proposed

(A) Hirschman

(B) Friedman

(C) Gunder Frank

(D) Gunnar Myrdal

MAY - 36316/I11—D
""""" T T ST gafod i, Tieh aemea

TeRU] e G f¥Teh Y- HeAT Tsh

ST

(A) ST SeafqRiie Thdl
(B) fafismmiR sifwasia T
(C) uftfeerdishia wHdre

(D) grIfster Aferen o emfefs &

It FHAA

(B) frewa

(C) X Heh

(D) TR fhefa

10



16. Match the List I and List IT and
select the correct answer from the

codes given below :

List I List II
(@) Walter Christaller (1) Growth Pole theory
(b) Gunnar Myrdal (2) Central place theory
(¢) Albert Hirschman  (3) Trickling down force
(d) Francois Perroux (4) Backwash and spread
affects
Codes :
(@) (b) (c) d)
A @) 4) 3) o))
B) @) (4) (1) 3)
< (1) 2) 4)
D @ 3) (D 2)

17. An industry that encourages

investment in the earlier stages of
production by expanding its demand

for inputs is called :
(A) backward linkage
(B) forward linkage
(C) weak linkage

(D) strong linkage

MAY - 36316/I11—D
16. =T 1 3Afor =it 11 =2 e Sjeean 3l

el Hehdishlush!  dra fashew
IREEINE
g 1 il
(@) deeX fReeer 1 I8t ya g
() TR T« (2) =g M fHg
() oTeere fedma (3) &14: 3 wftomg
(d) Thhred dUad (4) UYE WH o
JE gRomH
Gehdieh :

@ () (c) )
@ @ @ 3) (1)
B @2 @ 1) 3)
© & @ 2) (4)
M @ G (1) 2)

17. SO S SARHEE = AR STedd

A=A oA [qaUehid WE <l

(A) 9fq gEre
(B) T e

(C) HHGad FEe

(D) A& S

[P.T.O.



18.

19.

The foothill zone of Shiwalik denotes

characteristic of planning

region.

(A) Natural cohesion

(B) Functional unity

(C) Regional consciousness

(D) Economic viability

Resource base of sub-region of

western peninsular planning region

of India is

(A) Ferrous mineral production—

tourism—wheat production

(B) Cotton processing—coal mining—

horticulture

(C) Hydro—power—cotton

cultivation—horticulture

(D) Petro—chemicals—cotton and

millets—ferrous metals

18.

19.

MAY - 36316/I11—D
Tyremetter gream=n fayum faeE gevm

7 afyre guifear :

(A) SEfifes Helgd

(B) HEicHe Tehdl
(C) Uf¥reh Sofia

(D) sTféfen efvan

Tf¥=H gushedrd a9 gevm= Su-

(A) @E ©fTs IURA—THTA—Tg

ERIcE]

(B) ShTqE Gfshal—ehladd ITurehTi—

HACaeH

(C) ScAforgd—ehTgd Scag1—hallcare
(D) I—THEA—FYE d TEH—aE

T
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20. Consider the following statements :

21.

(@) Objective of regional planning
is to remove regional disparities

in socio-economic spheres.

(6) India has seen success in
resolving regional problems

with involvement of local people.

Which of the above statement(s) is/

are correct ?

(A) Only (a) is correct

(B) Only (b) is correct

(C) Both (@) and (b) are correct
(D) Both (@) and (b) are not correct
10 Degree channel separates :

(A) Indian Peninsula and Sri

Lanka Island

(B) Lakshadweep and Aminidivi

Islands
(C) Andaman and Nicobar Island

(D) Nicobar and Indonesian Island

MAY - 36316/I11—D
20. WeaUsht shIv (/1) faam (/3) s

e ? 4rg fasey faer

(@) wHTSR-3Mfeds el gefirs
Teromre X Y0l § WIef¥ren s
B

(b) WA Tefish wish HEHTIGH
N o (a¥
TRefEr Uy Srefavad aerEtd

STV 3.

(A) B (q) ISR 3T®

(B) e (b) SIeR 3®

[a ha

(C) (@) T (b) Tl TSR 2Ted

D) (a) 9 (b) TR FH e

21. 10 feuit =A@ AT ST hdl.

(A) YR gi9shed 0T siicient s

(B) wiegig smfur sifaicta e

(C) 3feHM amfor fAheR o2

(D) @R anftr SEMREmE o

13 [P.T.O.



22.

23.

Given below are the extreme
locations of India. These are further
placed with reference to different
directions. Choose the correct group
of direction-location pairs from the

options given.

Extreme locations :

(1) Dafdar
(2) Kibithu
(3) Guhar Moti
(4) Indira Point

N (E) (W) S)
A @ 2) (4) (3)
B) @ 3) (2) (4)
(NNE) (2) (1) 4)
O @ 2) 3) 4)

Which of the following rivers
originating in Himalaya forms the
easternmost major tributary of river

Ganga ?
(A) Kosi
(B) Gandak
(C) Tista

(D) Mahananda

22.

23.

MAY - 36316/II11—D

TRATAT ehT=A T ARl g feere
fectean wafamgA Tema-feen=n o9&

STeTT 3THIel T1E S

k= T
(1) TR
(2) ferfay
(3) TBR HEl
(4) Efe foig

G (T @ @)
@a o @ @ 6
B O G @ @
© 3 @ @O @
D O @ 6 @

ferTeraTd STHITEO= q&iel Aeiueh!
FHIUR A F T qIReid TE
& e ?

(A) =il

(B) TiEsh
(C) fam

(D) el

14



24. Which two of the following hill

ranges from Peninsular India are
not part of water divide between

Arabian Sea and Bay of Bengal ?

MAY - 36316/II11—D

24. WlellciUeh! YRAE Glaehedldicl ShIoTcal

M SR I STl HHE F Serl STERR

LA STATTYTSTeR= 9FT ATl 2

(1) drersre
(1) Balaghat ‘

(2) AfSe-HraHs
(2) Ajintha-Satmal

(3) weked
(3) Mahadev

(4) Tt
(4) Maikal

(A) (1) e (2)
(A) (1) and (2)
(B) (1) and (3) (B) (1) fur (3)
(C) (2) and (3) (C) (2) 3fur (3)
(D) (2) and (4) D) (2) 37 (4)

25. In which of the following parts of | 25. HRAT=A ETeATeTdeh! ShioTedT I 99s
India, Kuttanadu, having elevation TR Rl TR STHAA FIeTe
below sea level is located ? Wy fed eme 2
(A) Karnataka Coast (A) FAeH THI
(B) Minicoy Island (B) fafrria s
(C) Kerala Coast (C) &t fohamn
(D) Nicobar Coast (D) F@ER w2

15 [P.T.O.



26. Find the correct sequecne of states,

27.

28.

in descending order, in terms of iron

ore production states :

(C) Chhattisgarh

(&) Goa
(K) Karnataka
(O) Odisha

1) (2) 3) 4)
@A © (©) 029) ()]
B K O ©) (G)
()N (C)NN(0) (K) (®))
O ©O K (e)) (9))

Which of the following State/UT gets
IInd rank in the list of density of

population next only to Delhi
(NCR) ?

(A) Lakshadweep
(B) Pondicherry
(C) Daman and Div
(D) Chandigarh

The smallest, officially recognized

minority group in India is
(A) Parsis

(B) Buddhist

(C) Anglo-Indian

(D) Jains

MAY - 36316/II11—D

26. YA ARES 3cdeT HILT=AT Weiel

27.

28.

TSI 3T 3l %A Sl

(C) SETS

(G) e
(K) sl
(0) sfifsem

(1) (2) 3) 4)
A © ©O K) ()
B K O ©) ()
©C @ ©O (K) ©)
D O K (&) ©)
TR IV ST/ SIMEAd FST
MFEEAT TAd=ar gguf feeat

(H.T9.) =0 T SHHTRTER
e ?

(A) A=Y
(B) dite=RY
(C) Tl 7oy e
(D) =T

TRATdE, ATIFATI A= STETAT Tl
A8M SACUEEAS TE HIvET 2

(A) ARl

(B) &5

(C) ofel-gfem
(D) SH
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29.

30.

31.

‘The values of three variables a, b
and ¢ must sum to a constant K
usually represented by 1 or 100’

This is the requirement of

(A) a pie diagram

(B) a cube or sphere diagram
(C) a ternary diagram

(D) a star diagram

Which of the following statements,
with respect to geostationery

satellite is not true ?

(A) They are located at around 36

thousand Km
(B)

They are particularly useful for

communication

©)

Their speed is synchronised

with earth’s rotation

(D)

They are at fixed location and

are not moving

Which of the following is not a

remote sensing satellite ?
(A) IRS 1A

(B) CARTOSAT

(C) RESOURCE SAT
(D) IRNSS

29.

30.

31.

MAY - 36316/I11—D
‘e, ‘a enfor ‘w! A =eren oA
0 R (K) 3991 9 ot 1 fhar 100
I TEEYE AT A0 &
SMETIRAT TR.

(A) 9= s

(B) ¥ fohar e st

(C) Torenteheir=i

(D) TR AT

YfeeR ITURERHI @ aTdeh! ehIod
foum v & ?

(A) T TIYRUM: 36 TR fohHl. SFauer
T STEAT

(B) ¥ foeom: Sewae-rea S SR
3T

(C) = Tt § geat=ht afee Tt 4
YRRV HEA TR

(D) ® wshra foammft wonfya owgm O fRea
&I

EEATeTIh! SRVl IUUE GG HASH TS

A& ?

(A) IRS 1A

(B) CARTOSAT
(C) RESOURCE SAT
(D) IRNSS

17

[P.T.O.



32.

33.

34.

In multiple regression analysis the
hierarchy of variables can be

determined on the basis of squares

.........

of respective
(A) Coefficient of variation

(B) Variance

(C) Regression coefficient

(D) Mean

Product of regression coefficients of
Y on X and X on Y equations

provides the value of ..........
(A) Coefficient of variation
(B) Unique variance

(C) Covariance

(D) Explained variance

Which of the following regression
model will be best suited for the set
of data where both X and Y variables
show geometric progression ?

(A) Y=a+ bX

(B) Y = ab%

(C) Y = aXb

D) Y = a + bX + byX?

32.

33.

34.

MAY - 36316/I11—D
SgAtead THISA foeeroona <=t Srof

AT AR ST ST

(A) fafq=rd=n (Variation) &
(B) W=RU

(C) THISEVIEN HeTvlish

(D) &

Y SR X offor X R Y A1 HHIHOd A

T HEUTR AT TOThRIG SIeerieh|

FYTe qed fHesd ?

(A) fafS=fa=n (Variation) H&Ulk
(B) ThHAT F=0

(C) wey=u

(D) TEIHhd T=

Seg1 X oAfor Y % St =1 ifAfaes e

Tylald STHdeT degl WedTeTeh! THISIU

R T A S 2

(A) Y = a + bX
B) Y = abX
(C) Y = aX?

D) Y = a + b;X + byX>
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35.

36.

A map in which soil types or
geological formations are shown by
different colours or gray levels or

shading patterns is an example of

(A) Isopleth
(B) Choropleth
(C) Composite

(D) Chorochromatic

Which one of the following was the
major reason for which the
continental drift theory was

denounced by many scholars ?

(A) the theory was considered as

science fiction

(B) Wegener was not an earth

scientist

(C) force mentioned by Wegener for

drifting was inadequate

(D) some of the evidences were not

convincing

35.

36.

MAY - 36316/II11—D

fafag Treer fhar FeoHEa e sigan

BT GUITAT T STANT hEd TI heAdd

T YR TR 3T Bl
(A) FHERT

(B) &TerHt

(C) fa=z

(D) &t

TTefteehl YTHEAM M ST

" Eredagd Tag=rET 3T YR o

Sl ?

(A) 1 fagrae  S=fer shegehe’ |

A

(B) TR RIS Fegdl

(C) TSTEAHIS S HiftTdere! e G

Togd

(D) FEl W TERES To5d
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37.

38.

o))
2)
3)
4)

Consider the following statements
and choose the correct answer from
among the options given :
Statement (1) : Convergent plate
boundaries have a fold mountain
system in their vicinity.
Statement (2) : All fold mountains
are located near the convergent
plate boundaries.

Options :

(A) Both the statement are correct
(B) Both the statements are false
(C) Statement (1) is true but (2) is
false

Statement (1) is false but (2) is
true

Select Geomorphic Process (List I)
and their associated landforms (List
II) are given below :

Choose the correct answer from the
codes :

(D)

List 1 List II
(Process) (Landforms)
Fluvial (z) Lunetteses
Glucial (i1) Coves
Aeolian (Z1i) Levees
Solution (7v) Hummocks

(v) Regs
Codes
A) (H)—(), (2)—@G), (3)—(v),
(4)—r)
B) (LH—@), (2)—(v), (3)—(iii),

(4)—@v)
(1)—CGv), (2)—@1), (3)—(v),
(4)—@)
(1)—Gi), (2)—Gv), (3)—(v),
(4)—@)

©)

(D)

37.

38.

et I (uferar

(1) Yas

2) fer=

(3) drdsl (Aeolian)
(4) faega/g@Em

MAY - 36316/I11—D
Trefta faammn fauar F&1 @meyra
feciea gatatent a9 wata fAeer
faam (1) : * yuee THHAET HmrE
SeleseAl I dell Ued efed.
e (2) : 9ol =l eld qaee Thien
HHISIges 3Teesdd.
gy
(A) I faum 9= smRd
(B) <t faum 1o mRd
(C) foum (1) 9 38 Wy faum (2)
A 3
(D) fagm (1) s\ 3’ R faem (2)
qA TR

@rett Fees yeaems afsran (At 1)
o el frfed y&u (At 1) feeredt
JRA. e Ufha & YU A=Al S

Hehd foo oed el T Hebd

REEIEE

TEr I (&)
() TFeHE
(i) |
(i) e
(iv) THIF
) T

N
(A) (1)—(v),
(4)—(1i1)
(1H)—(@@), (2)—(v), (3)—(ii),
(4)—(iv)

(1)—Gv), (2)—(@Gi), (3)—(v),
(4)—@)

(D—G), (2)—@v), (3)—(v),
(4)—@)

(2)—@), (3)—Gwv),
(B)
(©)

(D)
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39. Major Powell propounded the | 39. TSR dfda A STALROT= STERYT TTfoet
concept of base level of erosion on B "o Y A hered
the basis of his expedition in : Hifghae gfauifca el .

(A) Henry Mountains (A) B wEa

(B) Appalachian mountains (B) fqaif¥rem udd

(C) Grand Canyon (C) T HaH

(D) Colorado Plateau (D) SIERS™ U8R

40. Assertion (A) : “Slope is both the | 40 fqgm (A) : “‘SAR § ST9eR= &R0
cause and effect of erosion.” S o e
Reason (R) : Slope represents the 0 '
rate of change of elevation with (R) : S9N, 1
reference to horizontal distance, in QU= SgaTd WiAeid shial Tued
other words it is also the rate of SR g oS wfas= sSfa o
conversion of potential energy into

o b & Seerragl gfdfeie .

kinetic energy.

(A) Both the statements are true (A) e G faem seR 7ed o (R)
and (R) is the proper T (A) T 9F9 TR 3TE
explanation of (A) .

(B) i <=l faur slsR 3fed W

(B) Both the statements are true 3 3 i

R A TS L]
but (R) is not the proper (R) © (&)
explanation of (A) (C) add (A) IR TR W faam (R)

(C) Statement (A) is correct but (R) I 38
is false .

(D) aa (A) I 3T’ g fau (R)

(D) Statement (A) is false but (R)

: ERECHI T
1s true
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41.

42.

43.

(a) Macroscale (Planetary)
(b) Macroscale (Synoptic)
(¢) Mesoscale

(d) Microscale

‘Decline of slope’ is the process

indicated by for the

development of slopes.
(A) Albert Penk

(B) Davis

(C) King and Wood
(D) Walter Penk

proposed a nine unit model for

slope studies incorporating facts of
slope processes operating over it.

(A) A. Young
(B) Darlymple
(C) A. Penk
(D) Peltier

Match the following and select the
correct answer from the codes given
below :

List I List II
(1) Land and sea breeze
(2) Dust devils

(3) Hurricanes

(4) Westerlies

Codes :

(@) ®) (c) (d)
A @ (1) 3) (2)
B) @) (2) (4) (1)
<© @ 3) (1) 2)
D) (2) (1) 3) 4)

MAY - 36316/II11—D

PR g QU G R S S —
T AR farmEEeY™ diset.
(A) e T=h
(B) <feed
(C) fopm emftor 9
(D) aeeX T=h
[ e STt ST R T
gfsha TESHN AR T Teheh Yiaq™
e
(A) 3. =W
(B) Srefiraa
C) 3. T=
(D) feesrt
43. e Sesa U1 A TAE et feeiean
Hehdihqd el :
qrEr 1 qrEr 11
(@) T&q FHUI (WEE) (1) @R 9 HAeE aR
) Feq v (fafme () STgETd g
EIIED) EIEC
(c) W& JEI (3) B
(d) g&H FH (4) gt am
W s
(a) (®) (c) (d)
A @ (1) 3) (2)
B) ) (2) 4) 1
< @ 3) (1) (2)
D) (@) (1) 3) 4)
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44. Assertion (A) : The isotherm lines

remain almost parallel to one
another and parallel to latitudes on

oceanic surfaces.

Reason (R) : Temperature at
meritime location are free from effect

of elevation.

Select the correct alternative using

the codes below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAY - 36316/II11—D

44, g™ (A) : 9 QAT GHATRST

THHABE d AJIAH S8 s THIMR
.
ShIUT (R) : 9FRT A A8 IS =

JROTHORE o 3T

@il Hiehdiehldent I foeheq

:
s .
.
*

N A

(A) (A) 9 (R) SIel SR ATRd ST

R) ¥ (A) 3 T TR 3T

(a) ha¥

(B) (A) ¥ (R) T8l SR 31ed T (R)

T (A) 9 oTgH TARIH AR

(C) (A) ¥ R o Wg (R) ¢ I
3T

D) (A) § I% 38 Wg (R) T SR
3T
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45. Which one of the following is correct

chronological sequence of storms by

its names in Bay of Bengal ?

2014 2013 2013 2012 2010
(A) Hudhud Lehar Helan Nilam Laila
(B) Hudhud Nilam Helan Lehar Laila
(C) Nilam Helan Laila Hudhud Lehar
(D) Hudhud Nilam Lehar Helan Laila

46. A wintertime index—‘Windchill’

47.

to calculate the human

sensation of temperature.

(A) air temperature

(B) rainfall and air temperature
(C) wind and air temperature
(D) wind

Heat stress index links

..........

determine the thermal comfort of

human body.

(A) wind and temperature

(B) air pressure and temperature
(C) sunshine and temperature

(D) humidity and temperature

MAY - 36316/II11—D

45. WTeeueh! STTeT= SYEFRIAE STgesl
TATTER I HIAHA HIVE 3 7
2014 2013 2013 2012 2010
A)ESEE W wod T orew
B)gSgE Fom T TR oW
©fem T wen  gEEE o
(D)ESEE Fom wR T oIl
46. HEETH! ATYHE STUE SIS
feareardial ‘ama-3itaes’ fdemes
e AR FE HIE.
(A) B9 qYHH
(B) 9i=1 9 gAY dT9HM
(C) aR & gad T9HH
(D) aR
47. S TR 2iftureh Teerdt StfavarSt
N N S — -
T 3@l

(A) IR 9 AIHEH

(B) ¥R & AIIHM

(C) QIR d A9HH

(D) oTEd & q9EE
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48. Read the statements (a) and (b) and

choose the correct answer from the

codes given below :

(@) In general, regions influenced
by high pressure, with its
associated subsidence and
divergent winds, receive ample

precipitation.

(b) The general features of the
global distribution of preci-
pitation can be explained by
global winds and pressure

systems.
Codes :

(A) Both (@) and (b) are true and
(b) is the correct explanation

of (a)

(B) Both (a) and (b) are true but (b)

is not the correct explanation

of (a)
(C) (a) is true but (b) is false

(D) (a) is false but (b) is true

MAY - 36316/II11—D

48. faum (@) 9 foum (b)) 3 a=A FHEA

o

feied Hehdlehlqd A

T e

fosheq ferer -

(@) F=acE 30T AR Her STeioHa
ST STIERY aR A genferd gaema
RET IHH Tl

(b) T T fadoTdial HEEH
TS T AR I TR Yoett

JEgR T Il AdTd.

(A) (a) T (b) TE 9K 3TRA o (b)

% (@) 3 TgH TIRHI TR

fa =

(B) (a) @ (b) T IR A T (b)

T (@) ¥ gH TR ARG

(C) (a) SR AR TG (b) 8 I
3T

(D) (a) Ik 3 TG (b) T T TR
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49.

50.

51.

Which two of the following cloud
types do not fit into classification

based on height ?
(A) Cumulus and stratocumulus

(B) Nimbostratus and cumulo-

nimbus
(C) Cirro-cumulus and cumulus
(D) Cumulus and cumulonimbus

Mean monthly temperature values

in coldest month are

............

tropical rainy climate.

(A) between —3°C and 18°C
(B) less than —-3°C

(C) between —3°C and —18°C
(D) greater than 18°C

During the ocean basin development

stage shows the following
characteristics “broad ocean basin

widens, trenches develop and

>

subduction begins.’
(A) Embryonic
(B) Juvenile

(C) Mature

(D) Declining

49.

50.

51.

MAY - 36316/II11—D

AN\ NN LN LI
LlAlAYenl nlVld _Q;F‘T <'lld Heh[X sHIAY

SMHRA SFfieRLod o9 A ?
(A) IR A0 IR
(B) Fiagen snfn sggefios
(C) Totppgera sufor wygeg

(D) e M el
ST Iu BATAMIA AT

M [ [a o [l -
e He[IdleT HITHeh JIE draHTH Hed

(A) —3°C d 18°C =1 TT&H
(B) —3°C Ul =Hl
(C) —-3°C 4 —18°C =1 M

(D) 18°C Ye&m S

qatel T1af0 fogH Jard * =rdes R ol
T, 1 707 BIaTd 9 THEvi geard
BId.

(A) THTerEen

(B) STcamaEen
(C) TrererEer

(D) =erHrerEen
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52. Assertion (A) : In Atlantic Ocean,

Oceanic trenches are largely absent.

Reason (R) : Atlantic Ocean has
divergent boundaries of various
lithospheric plates in the form of mid-

Atlantic Ridge.

Read the statements given above
and choose the correct option from

the following :

(A) Both (A) and (R) are true and
(R) is the proper explanation of
(A)

MAY - 36316/II11—D

52. faamT (A) : Tedifes HEEPNE Al

Tl dgdeh e 3R,

HIUT (R) : 372l HeMTRI 3Teh

Ry quegr=n faerfiria H

Y ITEdAledh W=A TR 37ed.

R faum T Eeliel TaaHYT ST
ERIRIEEEIEE:

(A) (A) 9 (R) T4 faem sRsR rgd
(R) ¥ (A) = Iy TIaRIu 3T8

(B) Both (A) and (R) are true but (B) (A) 9 (R) <=l Taum slsR ew/d
(R) is mnot the correct R) ¥ (A) T dFa T @
explanation of (A)

(C) (A) is true but (R) is false © @ e WG (R) T T T

(D) (A) is false but (R) is true (D) (A) I T8 g (R) T e 378

53. The tidal range at ........... is supposed | 5g e Jofied IR B SIS gatd

to be the highest recorded tidal S Fiftfer Somwan o,

range in the world.

(A) HEET ITATR

(A) Bay of Fundy

(B) Hudson Sea (B) BHT WYX

(C) Gulf of Bothnia (C) snfare e

(D) Black Sea (D) pTedl 9HR
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54.

55.

Which one of the following
statements is incorrect about
biodiversity hotspot ?

(A) It must contain at least 1500

endemic species

(B) It has to have lost at least 70%

of its primary vegetation

(C) It is a biogeographic region rich
in biodiversity that is under

threat from humans

(D)

Maldive island is known for
biodiversity hotspot in South
Asia

Energy flow in a ecosystem is ........
(A) Unidirectional

(B) Bidirectional

(C) Multidirectional

(D) Non-directional

54.

55.

MAY - 36316/II11—D

Safafaedean gewdie Je  @eadeh]

FHIU fauH T ST ?

(A) mER foRAM 1500 FERTES TSt
IFHO SEAYIE AR

(B) el afifer aeadiyent foram

70% = HA STHEA

(C) 7 SEfafaea TgE 3T Uae Tal

HT ST AHATIYA BT reed
A

(D) AeRd o< ¥ iU S
Safafaus gewiie B e
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56.

57.

Which one of the following is not
a major type of fresh water

ecosystem ?
(A) Lentic
(B) Lotic

(C) Wetland
(D) Profundal

Which two of the following coastal
areas, apart from Nicobar and
Lakshadweep is land show coral reef

development :
(1) Karnataka coast
(2) Gulf of Khamboyat
(3) Gulf of Mannar
(4) Gulf of Kuchch
(A) (3) and (4)
(B) (2) and (4)
(C) (1) and (3)

(D) (2) and (3)

56.

57.

MAY - 36316/I1I—D
TCATUehT IO I[G STot TEEI=T YhR
& ?
(A) =i
(B) it
(C) STEYyH
(D) WHed

fehTeR 9 S&1g a1 S FEIET
Jelled FOieTedTen] @iTeiieTieh! ShioTedl S

O 9t feat geena foesfaa
2 S

(1) <hAtesh foram

(2) WYY 3|

(38) FEE AN

(4) woFd A
(A) (3) =for (4)
(B) (2) 371 (4)
(C) (1) 3mfor (3)

(D) (2) =0T (3)
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58.

59.

Given below are the major forest
types observed in Himalaya region.
Which of the following is the correct
sequence of forest types with respect

to increasing altitude :

(A)

deciduous—mixed—coniferous

—alpine meadows

(B) coniferous—mixed—deciduous

—alpine—meadows

(C)

deciduous—mixed—alpine

meadows—coniferous

(D)

mixed—coniferous—deciduous

—alpine meadows

Which of the following Greek
contributions to Geography were lost
during the middle ages especially in
Europe ?

(A) Knowledge about the spherical

shape and circumference of the
earth

(B) T-O world maps with east shown

at the top of the map
(C) Ability to draw maps using

gridlines with mathematical

base

(D) Art of making Portolano Charts

58.

59.

MAY - 36316/II11—D

oo feedd JUR JH@ A9

T TR ©ell feadl ofe. i

Il IATIR  STHU A TIhH
ABE

(A) TSI — Ay —= v —sreurs
Exul

D

(B) HeUofi—THy—aTsre—sTeurs
Exul

(C) dTsrel—MHyg—3Teursd HIT—
rquit

(D) fag—g=goi—arerei—steurs
Exul

el TeTdeh! shivTdl SfYTses TehT ANTeH
STR! Hed e, fasied: IR &=
fam ueen dar ?

(A) geef= TMereR R 3Tfr foean aftathdi=
Bk

(B) T-O S= &Rl <qreR gafeem
TR IS S vifael SR

(C) STesRETT ST e ThIe JeTe

HOATE] &I

(D) Uil (I1e9) ARG dHfeuam]

hedl
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60.

61.

62.

Which of the following statement is

not correct ?

(A) Aristotle followed the inductive
approach

(B) Herodotus was the follower of

Ionian school of thought

(C) Plato followed the deductive
approach

(D) The geocentric concept was

given by Ptolemy

The first climatic Atlas (Kitabul-
Ashkal) was prepared by :

(A) Al-Balakhi
(B) Al-Masudi
(C) Al-Beruni
(D) Al-Maqdeesi

The main contribution of Ibn-

Khaldun was in the field of :
(A) Historical Geography

(B) Human Geography

(C) Physical Geography

(D) Regional Geography

62. ToI-WIEGA ATd UTEAM

MAY - 36316/II11—D

60. Weeueh! HIUM a8 g o ?

(A) 3fiee farmt TRIRAm STIER
x|

(B) sUSIeH g fo=am yemgrmEn
ST 2l

(C) =g frmdt g STTERm
%ol

(D) YEhsld Fehoudl 2lerHl I HISat

61. dfgaT gamMETEl FRRN B (fRdEd

FRT) IV TIAL hell ?
(A) 3HA-SfeTel

(B) erel-wgt

(C) FcA-siE!

(D) 3TA-HeRfeH!

h NN

Qi SHHA

T,
(A) Ui e
(B) W il

(C) UThfdeh it
(D) W i
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63.

64.

The chorological approach in

Geography was initiated by :
(A) Richard Hartshorne

(B) Hettner

(C) Richard Peet

(D) Richthofen

Decide the validity of the following

statements by selecting the correct

option given below :

(@) ‘Who gets what, where and
how’, is the key question posed
by the proponents of ‘locational
school’ in the 1970s.

(b) By conducting researches on

themes related to quality of

living, housing, access to basic

Welfare

Human Geography proponents

amenities, etc.,

appreciably attempted to make
the subject socially relevant.
(A) Both the statements (a) and (b)
are false
(B)

©)

Statement (a) is false (b) is true

Both the statements (a) and (b)

are true

(D) Statement (a) is true (b) is false

63.

64.

MAY - 36316/III—D
T Teeh! It eie feuuft Seft ?

¢ ha¥

hRIdrsiehar’  foramem=h
I e

(A) = =

(B) &

(C) f=E W

(D) T

el Tasmr=] T Eielld g
fea Tt e uReEn

(@) ‘hIomE w1 Hed, %S oA
B T foamaR=n k]
1970 =1 TRMhIA SURLT shelell
FHooll YT B

SITOATET TOTeT, TESTASHT, FAYd
o=t g, SAeTEREAn fasmeR
TN FEA HIAURRT HTHd]
e kel e faw=
ARG sl WY oA W
TIA el

(A) (a) 3T (b) & =T faam ST
e

(B) (o) & faum 19l ame @ (b)
T ToIesl oTme

(C) (a) 0 (b) & =T faam Teest
aTRd

(D) faum (a¢) Tl R W (b)
ST 3T’

S USRI

®)
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65.

66.

67.

Decide the validity of the following
statements by selecting the correct
option given below :

(@) An input becomes a resource as
it is perceived to have both
utility and value

(b) In the era of globalisation

experiences of nature, culture,

life in rural areas or even slums
tend to acquire exchange
value

Both the statements (a) and (b)

are true

(A)

(B)
(©)
(D)

Statement (a) is true (b) is false
Statement (a) is false (b) is true

Both the statements (a) and (b)
are false

In which of the area given below,
the life expectancy is the lowest ?

(A) Africa

(B) Europe

(C) South America
(D) South Asia

Which of the following State/UT
has the highest sex-ratio in 2011
census ?

(A) Puducherry

(B) Tamil Nadu

(C) Andhra Pradesh
(D) Manipur

65.

66.

67.

MAY - 36316/III—D
e faumr=n g @refia qatarden!
3taa watg faed e

(@) TERI HeH degra FHIE U Tl
ST STegl T SURd! ST Hoorg]
ST Y Bl

STTfTeh IR LUIT=AT T T, Tt
TTHtOTSia fohal SIS UgIaiel SeTol
FTETeIdeA STIHAHT AR T

=

(@) 30 (b) & =T fauam Tt
e

(@) T faum el W (b) T9A-
ECURRSI

(@) & foum et ™ (b) T
3T

() 3T (b) B Sl faam sTaerRet
aTed

Qe fooiean s YevTa Tard St
SR ST ?

(A) AT

(B) U4

(C) =faqur STHiten

(D) =faqor smfern

ETATTUeh! ShIvTCaT 59/h 3TTad JeSm=
ST 2011 THR Fafd S femsmoT
3 ?

(A) gg==
(B) drHlesrg
(C) 3TYuR™
(D) HUIY

(b)

(A)

(B)

(©)

(D)
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68.

69.

On the basis of Indian Census 2011,
which of the following statements is

incorrect ?

(A) The sex-ratio in India is decent

and improving year by year

(B) It is estimated that population

of India will be stabilised in
2060

(C) Growing by the current

population growth, India will

cross China population by 2030
(D)

India’s 35% population is below

the age of 25 years
Migration is an important factor
in :
(1) Changing age composition
(2) Changing sex composition
(3) Inducing high birth rates

(4) Diffusing culture and infor-

mation

Select the correct answer from the

following :

(A) Only (1) is correct

(B) (1), (2), (3) are correct

(C) (1), (2), (4) are correct

(D) Only (1) and (2) are correct

68.

69.
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ORA™ S0ET 2011 =1 STHRER,

Tt hod faam 9% o ?

(A) YRara famgamr 3fad ome 4
Tt fasfad 8 o

(B) VRGN ShE&A 2060 H&Y fEer
e 3 SN el TR

(C) IdHM AREEAERIIH o Bid
g™ @ 91 2030 H&A XA
== ge SEd

(D) YRGS 35% AT 25 TuTuel
HH AT IR

el a9 STHAEY

Seeral foim STehdiay

3T SHQH  dlcdAl

[N a

Tl 9 Hifgda JE0

4)
weferisht arg fasen faer .
(A) &K (1) Ar™

(B) (1), (2), (3) ™

(©) (1), (2), (4) =

(D) &K (1) 9 (2) I
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70. Concentric Zone model includes the

following zones within a city :

(1) Wholesale and light manu-

facturing zone

(2) Commuter zone

(3) Central business district

(4) High class residential zone

Arrange these zones in correct

sequence starting from the core of the

city by using codes given below :

A) (1), (3), (4), (2)

(B) (3), (1), (4), (2)

(©) 3), (1), (2), 4)

D) (2), 3), (1), (4)

70. G

MAY - 36316/II11—D

fal

9 hicdy YISO TR el

wreftel faym s/ad
(1) % 9 & ST
(2) SR &

fal

(3) hald AT Hicae

(4) SO A fares

T f99mT ST= S AT @t

e Hiehfasr=a SMER I HHM

.
b4
HIET ¢

A) 1), (3), (4), (2)

(B) 3), (1), (4), (2)

(©) 3), (1), (2), 4

D) (2), (3), (1), (4)
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71.

72.

In the classification of urban centre,
as per census of India, class IV

denotes .............

population.
(A) 50,000—99,999

(B) 20,000—49,999

(C) 10,000—19,999

(D) 5,000—9,999

‘City region’ refers to which of the

following ?

(A) An area demarcated by

Government

(B) An area around the city to
which the city has transport

linkages

(C) An area around the city over
which the city exercises a
dominant influence in relation
to other neighbouring cities of

equal importance

(D) An area around the city that
supplies food and labour

resources to the city

71.

72.

MAY - 36316/II11—D

AT STTTUATIER Sheledl AT ST

(A) 50,000—99,999
(B) 20,000—49,999
(C) 10,000—19,999

(D) 5,000—9,999

‘TR Y9’ Wdlddeh] hydl Heuid

AqE ?

(A) YA HiHifeRd

shelel &

(B) IUEigdra™ &F S ITedrd

AN LY

IEehi SSalel 3T

(C) TRUEIEded Th & Sge ol

ITEUET JIN=AT 9REE He<d

ST YEU=AT Jod SR YT

T

(D) TEUH ST 9 AR GHIEH A
Q&3] HOR AT YETH AT
&
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73. Match the List I with list II and

select the correct answer from the

codes given below :
List I List II

(City name) (Urban functions)

(a) Roorkee (1) Administrative
(b) Dhanbad (2) Mining
(¢) Itarsi (3) Transport

(d) Gandhinagar

(4) Educational

Codes :

@ ) (c) d)

(C-VNC)) (2) (1) (4)

B @ @2 (3) (1)

<© O3 (1) (4) 2)

M O @ (2) 3)

MAY - 36316/II11—D

73. T I 9 g I 9= Siedl Jesadl

arelia fooedn fasheamea Ara Ta

IREEIIE
T 1 T 11

(STET= 1) (FTETS hTd)
(@) ®EhHI (1) TR
(b) G (2) TMITHH
(c) TR (3) o&qH
(d) TR 4) o

Hehdich :

(@) (b) (c) )

G-V ) (2) (1) (4)

B) @ (2) 3) (1)

© ) (1) (4) )

D @D (4) 2) 3)

[P.T.O.



provides competitive edge
in exports of garments from

Bangladesh.

(A) Abundance in production of

cotton and jute

(B) Heritage of skills of fine textile
weaving

(C) Microfinance networks and
exploitative gendered division
of labour

(D) Empowerment of women
workers

75. Match the List I with list II and
select the correct answer from the

codes given below :

List I List II

(a) Primary activities (1) Gold collar workers
(b) Secondary activities (2) White collar workers
(¢) Quarternary activities (3) Blue collar workers

(d) Quinary activities (4) Red collar workers

Codes

(@) ®) (c) (d)
A (@) (4) (1) 3)
B) @ (3) (2) (1)
(NENE) (2) 4) (1)
D) (@) (4) 3) (D)

MAY - 36316/II11—D

A TFATRT HYT TR FHISATA

fratda wufcrss wrReT fHedl.

(A) ®E 9 = I faqa 3R

(B) dctH hiue foruTehTH qﬁl?l(’ﬁlﬂl AR

(C) qeH foraezeen 9 fyesaueh formeania

CEICIRC R SE

(D) Wfgc HHIRE Heeleh{o

75. g 19 g I I Siedl Jesad]
@t fociean fameamys A vy

g 1

T 10

(@) Wafw fora (1) Il Teug! SR
) Tedra fean (2) Yo TSRSl HHR
() =gd feam (3) s TBUET HAR
(d) = foman (4) dieel T@UET HHTR
Hehdich :
(a) (b) (c) (d)
A (@) (4) (D 3)
B @ 3) 2) 1
< O (2) 4) 1
D) (@) (4) 3) (1)
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